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Q2

Q3
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SECTION-1| GENERALAPTITUDE TEST | 25 QUESTIONS

Select the option that is related to the third
term in the same way as second term is
related to the first term.

Temperature : Thermometer :: Humidity : ?
(A) Spectrometer

(B) Seismometer

(C) Hygrometer

(D) Osmometer

In a certain coded language, if “LITMUS”
is written as “SMIUTL" and “INDIGO” is
written as “OINGDI", then how is the word
‘JAGGER' would be written in that
language?

(A) RGAEG)

(B) RGIEGA

(C) RGAGE]

(D) RGIEAG

In a certain coded language, if ‘TABLE' is
written as ‘VEDNI" and ‘CHAIR is written
as ‘EJEOT’, then how is the word
‘BENCH" would be written in that
language?

(A) DIPF)

(B) DGPEJ

(C) DIPEJ

(D) DGPFT

IFP@Q means P is the husband of Q; J#L
means L is the son of J; and NSM means N
is the brother of M, then which of the below
options definitely states that B is the mother
of A?

(A) A#¥BSC@D

(B) CSD@A#B

(C) BSCRA@D

(D) D@BH#CSA

QI

Q2

Q3

W Awey &1 gga ¢ o dv T @
o v W v @ Rrw ave @ g
T® URS Y& § e g

TR eEeR o arder ; ?
(A) VagmHres
(B) ¥reinfey
(C) sEuMiex
(D) asifeinfrey

U® e W ¥ afy “LITMUS" &
“SMIUTL” féran mem & aen “INDIGO”
Y “OINGDI" férar wmen 8, ot 4 =
T ¥ W= ‘JAGGER® @) #9 faran
WTT?

(A) RGAEG)

(B) RGJEGA

(C) RGAGEJ

(D) RGIEAG

U @ Wl # Al ‘“TABLE' Y ‘VEDNI’
fera Siver & w@en ‘CHAIR' @t *EJEOT
féran Simar 8, o ot 22 W % BENCH'
&1 P foran omer?

(A) DIPFJ

(B) DGPEJ

(C) DIPEJ

(D) DGPFT

ot PAQ@ sl E B Qar uf PR
J#L o1 3ef & 5 J 37 73 L §; ik NSM
o1 & 5 M @ N & o Pt
40 @ | fwe ghfen s g i
A% ¥ B&?

(A) A#BSC@D

(B) CSD@A#B

(C) BSC#A@D

(D) D@B#CSA
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Q6
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Given below are four statements followed by
Identify which
conclusion(s) definitely follow(s) the given

Q5

four conclusions.

four statements disregarding the commonly
known facts.

Statements:
All dogs are cats

BCEE06S

Some cats are tigers

d B =

All tigers are lions

e

Mo lion is a donkey

Conclusions:

I) Somecatsaredogs

I) Alllions are tigers

[IT) Somedonkeys are tigers
IV) Notigerisadonkey

(A) Onlyconclusion | follows

(B) Only conclusions Il and IV follow
(C) Only conclusions Il and I1I follow
(D) Only conclusions | and IV follow

If the below alphabets are formed as per the
ascending order of their appearance in the

Q6

standard alphabet series, then which
meaningful English word can be formed using
the alphabets in 1%, 4%, 6*, 9" and 16®

XUIHQLETBWMRKSAGC
(A) STEAM
(B) WHALE
(C) MEANS
(D) SHAME

refafan 4 an ou= sk 99 @15
g e fag g ) fafea &t @6 @
/% frad f2y v wumt & A
w9 A AT wwen &/8 W 8 9
wErFg w9 9 e aedt @ e el

HU:
1. g fafeoai @
2. oo fafeaai am §
3. Wi ag ¥ &

4. o I ey H B
frrep:

n o fafeea g #
m it R a8

[ e A §
V) &1 ama ar 78 8

(A) aet Frepd 1 araeor v &

@) daa Fresd 111 3hv 1V g 5
L

(C) daw Fremd 11 3R 11 SFHTT A
8

(D) dae Frepd [afiv IV SEERY &9
#

af2 Prafafen serdt o 79 avisa 3
IFTHR FIE! B9 A T WY, O AN
¥ yEd, W, B8, 7 afv Wiewd WM
T el | I wr eyl sfeh we
e & W 27

XUHQLETBWMRKSAGC
(A) STEAM
(B) WHALE
(C) MEANS
(D) SHAME
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Q9

Study the below series and identify what can
come in the place of 7",

GAS27, IEU35, MIY47, OMA29,
SOE39, USI49, ?

(A) WUMS7

(B) WWoOel

(C) YUMS9

(D) YWN62

Study the below series and identify what can
come in the place of “7".

3947, 4379, 7493, 9734, 7
(A) 9437
(B) 7934
(C) 4793
(D) 3947

[fthe symbols “+" and “—"" are interchanged,
*x" and “+" are interchanged, and also the
digits “3” and “7" are interchanged, then
what will be the value of the below equation?

83x7-79+63+7
(A) =133

(B) -350

(C) 244

(D) 511

LM-A

1 5920030

Q7

Q8

Q9

Frefofaa gam &1 @ sk s w1 15
uEfeEs () & W 9w @ | v
T |

GAS27, IEU35, MIY47, OMA29, SOE39,
USI49, ?

(A) WUMS?

(B) WWO6I

(C) YUMS9

(D) YWN62

Ffofea saer @1 @ sk g =¥
vEfaE (“7) & ®E W @ @ 5
T |

3947, 4379, 7493,9734, 7
(A) 9437
(B) 7934
(C) 4793
(D) 3947

afg Fe=faftr wftewor 4 <4 afy <
@ TE-gHY ¥ 9e A o, “x” afy
“+” B @G ¥ 759 famn g, qen
sl “3" 3l “7" B A tH-g | T2
far s ot W) Rw v wiewr 51 A
T B

83x7-79+63+7
(A) -133

(B) -350

(C) 244

D) 511
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Q10 The ages of husband, wife and their son are

QIl

inthe ratio of 10:9 : 3. To calculate the age

of the son, which of the below pieces of

information is additionally required and
sufficient?

{A) Before 6 years, the age of the son was
20% the age of his mother then.

(B) After 10 years, the sum of the ages of
all three will be 30 more than the sum
of their present ages.

(C) Thedifference between the age of
father and son is more than the
difference between the age of mother
and son.

(D) Thesum ofthe agesofall thethreeisa
perfect multipleof 11.

The perimeter of a rectangular ground with

comers A, B, C & D is 28 metre. To

calculate the area of the ground, which of

the below pieces of information is additionally

required and sufficient?

(A) The length of the diagonal AC is same
as the length of the diagonal BD.

(B) The sum ofthe diagonals is § metre less
than the perimeter of the rectangle.

(C) The perimeter of the rectangle is greater
than 50% of the area of the rectangle.

(D) The sum of all the internal angles of the
rectangle is 360°.

LM-A

Q10 ufy, vt sl @ 4= 91 Ay & I

QI

10:9:3 % g3 &1 37g F T T B
forg, Prafafas % | won @ fw o
o afafas wu | amgwadar gl S
qafer § g

(A) 67% i, 73 ) g TN WY TES!
| @1 g B 20% 91 )

B) 10a¥ arg, §=F @ amyg @ g,
I adHE g $ A A 30 3RS
BT |

(C) forom ot 4= & e 1Y &1 3iER, H
af g @ wen Ay @ SR | e
gl

@) &=t & 3mg B I 11 P e
L

A, B, C 3R D #F1 o JgasR ATF

1.y 28 fiex 81 faF @1 SF%d

wia e @ forg, Preferfaa A Q gan @

faa sim  afafRe o | awsm

it S wate A g

(A) Radt AC# g serht & forer i
famvi BD @ wiarg 8|

(B) 3mae & Rl & o WA &
gftag & 8 fiex oW ?)

(C) @maa o uR\m, anaa & &=wd |
50% sifers B

(D) anga @ Wi Al Sl &1 g
360° &
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We need to find the value of ‘a’ from the

below two equations, if both a and b are

positive integers.

1) 2a+b=22
2) 3a-2b=12

Now, read the below options and select the
one that applies.

(A) Only Equation | is sufficient to derive
the value of 'a’.

(B) Only Equation 2 is sufficient to derive
the value of *a’.

(C) Neither equations | or 2 alone are
sufficient, but both together are required
to derive the value of “a’.

(D) The value of ‘a’ cannot be derived by
any individual equation or even by both
equations combined.

If in a coded language ‘PEASANT’ is
written as ‘RQYVYHN’, how will
‘RANCHER’' be written in the same
language?

(A) PHFFPDL

(B) PLDPHFF

(C) PHFFLDP

(D) PFFHLDP

17408530

QI2

QI3

R a 3R b A g qots € o
Frefefan wfmon & o o F7 9
R T BT

) 2a+b=22
2) 3a-2b=12

3, Pt Res o sl s A o
0 e @y 8, sww wa S

(A) ‘a’ & "M F1T HA @ v Faw
e | gate &)

(B) ‘a’ &1 WM 0 FA @ foy Faa
e 2 gahe &)

(C) ‘@ &1 79 51 79 & fog =1 &Y
el wimY | gafa & s 9 &
Srden witever 2 yafa 8, wig 2
™ A ams &)

(D) *a’ @1 7= e N v wfteeor 9
8 s R s wwor 8, 9w a9
& 91 el | Wy w9 @ 0
81 s R o wear €

U& T WM % ¥ ‘PEASANT &
‘RQYVYHN' foran oimen 8, o o<t
71 % ‘RANCHER® 91 %) forar s
(A) PHFFPDL
(B) PLDPHFF
(C) PHFFLDP
(D) PFFHLDP
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Q14 Study the given table carefully to answer the
guestion that follows.
Sale (in crores) of no. of units by four
companies (cos.) over the years (yrs).
Co.\yr] 2015 | 2016 | 2017 [2018 |
A 1158 | #5.7 | 589 | 46.6
(B 1501 ] 763 | 372 [39.1
C | 933 | 695 | 537 | 489 |
"D [180.6 | 1110 ] 21.2 |33.4 |
Which company has sold the maximum num-
ber of units over the years?
(A) A
B) B
(C) C
(D) D
Q15 If P+Q impliesP-0Q
P-Q impliesP x Q
P=QimpliesP+0Q
P+QimpliesP+0Q
Which of the following is TRUE?
(A) 1+2-6x3+8=8
B) 6+2-3x1+4=12
(C) 254+6-45%x9+23=18
D) 10+4-3x]1+2=35
Q16 Find the odd one out of the below geometrical
shapes.
Rhombus, Triangle, Square, Parallelogram,
Rectangle, Trapezium
(A) Rhombus
(B) Trangie
(C) Parallelogram
(D) Trapezium
LM-A

1 5809539

014 Prfafea afes ® M § @ R

Iud a1 fAU T w1 Gan < |

ar Ffl g Rod o ai § A
g # i (@03 %)
/74| 2015 | 2016

P

A |1158] 85.7 | 589 [46.6
B_|150.1 | 763 | 37.2 |39.1
%

D

2017 | 2018

| 933 | 69.5 | 53.7 | 489
[ 180.6 | 111.1] 21.2 [334 |

Ao ol § B T A afte
v A gfew o @ A7

(A) A
(B) B
(©) C
(D) D

afe p+Q @ aed BP-Q,
P-Q®r 3l #PxQ,
PxQat 3 8P+ Q,
P+Q@&T aef 8 P+Q, M

Prafafua § 9 o5 @ oua T &7
(A) 1+2-6x3+8=8

B) 6+2-3x1+4=12

(C) 25+6-45x9+23=18

D) 10+4-3x1+2=§

fp=ferfan sofdm argpfrat # @ fr=
arpfa @ gear HIfI |

s, P, o, EwioR S, S
WA W

(A) FHET

B) P

(C) wHieR aga
(D) e AT
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Q17 Find the odd one out from the below group
of names,

Guava, Watermelon, Lettuce, Apple, Kiwi,
Mango, Pear, Pomegranate

(A) Lettuce

(B) Kiwi

(C) Pear

(D) Pomegranate

Q18 Study the below diagram and identify the
option that is NOT correct.

Goat

(A) Some lions are not goats
(B) Some goats are lions
(C) Lionsare not singers
(D) Some goats can sing

LM-A

Q17 Pefafem 1w wEl 4 /4 s A
uBEE DI |

AT, TG, HeTs—Tw, da, #d, anm,
AT, 3R

(A) HEATE—YT
(B) @

(C) -rerqreh
(D) ¥R

Q18 fr=fafen anmda &1 2w &9 afle 99
Aeen &1 979 F o v T8 2

O,

CLiTif

(A) Ho I Tl =6 &
(B) & wafdai 9w &
(C) I s & &
(D) me lal m awd §
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Q19

Q20

Two positions of a dice are shown as below.
If the number 6 is exactly opposite to number
4, then which number is exactly opposite to
number 37

L P P4

A) 1
(B) 2
Q) 5
(D) 6

Deepak left his home and walked 4 km
towards east, then tumed left and walked 3
km to reach his office. His sister Deepika
left the same home, walked 16 km towards
east, then turned left and walked 8 km to
reach her college. What is the shortest
distance between the office and the college?
(A) 10km
(B) 13km
(C) 17km
(D) 18km

LM-A

LSOSL0LL

10

Q19 Fr=fafa 4 o o9 @ o Rufow

Q20

wefdia @ w¢ & | afR won 498 oD
& feepe foda 6 & o wen 3 9

as @ fiens Rufa 2w @ den ¥?
(A) 1
(B) 2
(C) 5
D) 6

A oiffhy o @ A a9E W A
Frea®t 4 km qza 3 AR wea 8, R
AN HS B 3 km T B | SHS A
e didw om @ g o W 4
Praserav 16 km qd 3 3R wed 2, 3l
fibe ard & W 8 km TR 8 W
iR widw & 7 <gRm g0 e 0
(A) 10km
B) 13km
(C) 17km
(D) 18km

SERIES-A-D




Q21 Ifthe pentagon shown below is rotated anti-
clockwise 270° three times, the rhombus is
rotated clockwise 45° four times, and the
mirror image of the alphabet is used, then
what is the resulting figure?

o
.
@
®
|
| LM-A

LSEELZ)

CROFORGIES

11

Q21 aft Fre=fafe & wefifa v =t v
@ g¢ A Auda R § &= 9w 270°

qAran e 8, wwEgye ud A gd
fewm % W ww 45° yarn o 8, s
e @1 giv ufdfife Iwar fsar o 8
i ot st #= @ erf?

(A)

(B)

(©€)

(D)
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Q23
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Below is a statement followed by two
conclusions. Read the statement and
conclusions and determine which
conclusion(s) logically follow(s) the statement
given.

Statement:

For late return of books by readers, a library
charges penalty of ¥ 10 per day for the
number of days of delay beyond the due date.

Conclusions:

I)  Penalty forcostlier books will be
higher

I1) Penalty for lighter books will be lesser.

(A) Onlyconclusion | follows

(B) Onlyconclusion [l follows

(C) Eitherconclusion I or 1l follows
(D) Neither conclusion | nor Il follows

Choose an option that is a valid assumption
for the below statement.

Statement:

The Ministry of Railways introduces
additional Holiday Special trains and also
adds extra coaches to existing trains during
vacations.

(A) During vacations, kids love to travel by
trains instead of aero planes.

(B) Passenger traffic in trains significantly
increases during vacations.

(C) People need change and like to see new
trains during vacations.

(D) Engine drivers like to work for more
hours during vacations.

12

Q22

LGS LEDL

Q23

frmfafaa @ oy 3k S99 HdfEa 9
forepd v 71y & | T i Fred = @@
s PuiRa =¥ & &= w/9 Py
mfYe w9 @ Ry 77 FU & FTE
Fvn/aw &/

e

U qRISEd Ued! g fAda § g
amy S gy, A @ Pl B @
g facfea R & feg W RA 2 10&
yefgs oar )

Pressf:

n wEf gwmet @ fog andds aRe
BT |

1) i geerl @ Ry apfas &9 8

(A) Pae Fresd | s @ &

(B) @aa Frend 11 srgaver & &

(C) T o Fred | ar Fresd 11 sgERen
e #

(D) 7 o Freed |3 5 & Fred 10

IR Y &

a9 freea &1 agq Hifee o Frafaie
wee & fory e e &

e

v s 3 ufedl @ fr ETee R
2 aend & o HieEr 241 8 afRe
fea whe €1

(A) gfedl A ae waE e @ T
29 ¥ arar & ung ava #)
@) siEdl @ drm At A o B A
qg wirn #)

(C) v Bl % ggem wed § v 7
& 2w e v §

(D) g9 wre® BiEdl § afte g2 sm
FHE THG T £
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Q24 Read the statement below and two courses

Q25

ofaction given. Choose which course(s) of
action need(s) to be taken with regard to
the statement given.

Statement:

Despite having a standard work timing of
10 am to 6 pm, there has been more number
of cases of employees reporting late for
work, which affects the work flow in the
factory.

Courses of Action:

. Theemployees must be givena
waming and strict disciplinary action
must be initiated if no improvement is
found.

Il The work timing must be made flexible
so that everyone is able to come as
per his or her own convenient time.

(A) Only Action | needs to be taken

(B) Only Action Il needs to be taken

(C) Either Action | or Action I] needs to
be taken

(D) Neither Action | nor Action Il needs to
be taken

IfPuzzle :: Solve, then Essay :: 7. Identify
what can come in place of 7",

(A) Resolve

(B) Dictate

(C) Recite

(D) Write

LM-A

162 THENT
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Q24

Fr=fafea Tu= &) sk ows R &
a1 fsafaftt & 93| wow =t @5 fao
T wYA B e f #r o afaf
ottt sroe Wil enfge )

e
FH-TTA B WA @R FEE 10 T
W WG 6 5t T 8§ B qraoqE, W Hma
i ar ve § f adard a2 9
I & fores sRaEr W sm-sra waila
S

farmfafes:

I @Rl #1 Y € e S af?
¢ FuR 7 g &, @ 9 fivg
FON AFAHAEE Hriae) )
Sy |

1. & & aafy O B =fte fRred
velE SHar 397 gRusee ww
R FHH W A D |

(A) ®aa fsanfafey | aged o wad) @

(B) Fae farafafe 11 s @ wadh &

(C) @ o fesmnfaf®y | o 1) 39 o
"ol &

(D) = ot faranfafey 1 afie =1 & Brnfaf 1)
UATE o W

afe gt o =, oY Fraw o2 fafesm
N B gl () @ wm W

Freiferfes % & @ wr wreg am waer #7
(A) &a
(B) fermar
(C) vrgars=
(D) fora
SERIES-A-D




Q26

Q27

Q28

LM-A

SECTION-2 | GENERAL KNOWLEDGE | 50 QUESTIONS

Name the celebrated physician in the court
of King Bimbisara who was the personal
physician of Lord Buddha himself.

(A) Ajathashatru

(B) Sariputta

(C) Jivaka

(D) Rahula

Which of these statements is TRUE with

regard to the poem ‘Amar Sonar Bangla’

penned by Rabindranath Tagore?

(A) Itwas Tagore's first ever poem.

(B) This poem later was adopted by
Bangladesh as its national anthem .

(C) This poem fetched Tagore the Nobel
Prize.

(D) The poem was a school prayer at

India's 5-year plan system was adopted
from Russia. Name the Russian leader who
first implemented the 5-year plan approach
in Russia.

(A) ViadimirLenin

(B) Joseph Stalin

(C) Leonid Brezhnev

(D) Nikita Khrushchev

i4

Q26

Q27

Q28

o RARER & s@r § 9w ufha
s srarm & S wE 52 @
faoh fafeers o7

(A) 3ramerery

(B) iRy

(C) Was

(D) ge

it & g ol 8 sftar IR

WK Tien @ Heg # Preafafaa 9 9

Y | PUA e 87

(A) T8 2R A geeh Hiden o

(B) =9 ®f¥en 3 a7 # givERw A v
WA B HY A AT

(C) 7a sfden & fou 2uw & R
R faar T

(D) T& sfae wiaf@a § s 5
AR ol |

wNa 3 g9 affg dre o @ w6 9
YT AT AT | T B AT W TG A
¢ forem geell AR w9 A v affg g
& gfewor & @ fFar ar

(A) =fEdR afFa

(B) WG wifer

(C) ferafrs domag

(D) Ffen geaa
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Q29 Near which European capital would you find

the Palace of Versailles?

Q29 awlg &1 wea fr=fafaa & 4 W

R o @ are Rera 87

(A) London (A) ©fen
(B) Paris (B) ufs
(C) Rome (C) ¥
(D) Brussels (D) AHEH
Q30 The two famous universities of Oxford and sfranid R dfgw T 1 ufeg
Cambridge are located in which country? faafaare FrefaRen fw 2u 9 e
(A) France 87
(B) United States of America (A) wrH
(C) United Kingdom (B) wga e s
(D) ltaly B (C) TmEes feren
S (D) g

Q31 Howmanytotal biosphere reservesarethere Q31 wwa # e o wefda FAavisa

in India? (aawrr Rod) #7
(A) 10 (A) 10
B) 12 B) 12
(C) 18 ) 18
(D) 25 (D) 25

Q32 The Dandeli Wildlife Sanctuary is located in Q32 wineh swuil apmEwRvg Wi & B

which Indian state? g # e &7
(A) Kerala (A) B
(B) Tamil Nadu B) dfre Tg
(C) Telangana (C) T
(D) Kamataka (D) FHe®
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Q33

Q34

Q35

In which of these hill stations would you find
the Cheeyapara Waterfalls, Pothamedu
View point and Atrukad Waterfalls?

(A) Munnar

(B) Ooty

(C) Kodaikanal

(D) Yercaud

The city of Venice, criss-crossed by canals
and bridges, is located in which country?
(A) Denmark

(B) Scotland

(C) France

(D) ltaly

Mount Etna, considered to be the most
active volcano of Europe, is located in:

(A) Portugal

(B) Spain

(C) Greece

©) laly

Q33

Q34

Q35

fr=faftan # 4 e Re €y ® ma!
FUIRT Y, g Fawe AR JgPE
s fer?

(A) TR

(B) &

(C) BrSgHTe

(D) WS

e wEv ot 789 R gl @ g 2
frfafaa fw o ¥ Rem 87

(A) STHI®

(B) WS

(C) wiv

(D) seeht

Age e, O o & v wfisg
AT W e 8, ag Frefafe §
A fow 2w ¥ fum @7

(A) i

[B) ®F

(C) ¥

(D) =l
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Q36

Q37

Q38

Q39

LM-A

Ponmudi is a small hill station in South India.
Itis located near which of these cities?
(A) Kozhikode

(B) Madurai

(C) Thiruvananthapuram

(D) Mangluru

Name the city that is the capital of Westermn
Australia.

(A) Darwin

(B) Perth

(C) Brisbane

(D) Hobart

Article 161 ofthe Indian Constitution confeers
pardoning powers and commutation of
sentence powers on:

(A) The President of India

(B) The Prime Minister of India

(C) The governors of various states

(D) The Chief Justice of India

Articles 5 to 11 of the Indian Constitution
deal with which of these aspects?

(A) Citizenship of India

(B) Languages in India

(C) Boundaries of Indian states

(D) Education for children

17

Q36

Q37

Q38

Q39

S, =@ W & o e Ra
Ry | a8 fow wew & urw flem #7
(A) ®f¥rrs

(B) wged

(C) Rraiagm

D) gs

fFrafafaa 4 ¥ o o . ofied
sffern & worh #7

(A) &iffs

(B) wef

(C) T

(D) e

e WREE @ e 161 3 A
Ffafea 4 9 59 w9 oo =93 ar
AT A BB B A ufde w2

(A) WRE & gl

(B) WIRE & WeriHE

(C) Rft= wroal @ g

(D) ¥ & e g

Aty wWRem & s s 1)
Prerforfee % & Ry uwe @ walve 22
(A) e it e

(B) e 3 A

(C) wreeira st @ Wi

(D) 7=t & forg fRwn

Ha
:




Q40

Qa2

Q43

As of April 2019, who is the Governor of
the state of Maharashtra?

(A) E.S.L.Marasimhan

(B) C Vidyasagar Rao

(C) Palanisamy Sathasivam

(D) Anandiben Patel

What does article 300A of the Indian Q41

Constitution aim to guarantee?

(A) No person shall be deprived of his
education.

(B) No person shall be deprived of his
marital rights

(C) Noperson shall be deprived of his
property.

(D) No person shall be deprived of his
privacy.

Articles 324-329 of the Indian Constitution Q42

deal with which of these aspects?
(A) Elections

(B) Minorities’ protection

(C) Panchayats

(D) Powersof agovernor

Currently, what isthe highest percentageslab Q43

for the new tax regime called Goods and
Services Tax (GST)?

(A) 18%

(B) 25%

(C) 28%

(D) 32%

LM-A

040 3l 2019 TF TUAE STFTPN B ITHR
RIS, V9 &1 YeadTe @ 87

(A) Erave. W

B) ¥ fRamwrrR E

(C) warrarf wafdean

(D) I v

Wi Wi & 3 300A Frefeit

# A frad TR g 27

(A) ¢ N afda o Ren 3 dfa
& |

®) @ N afda I dafks afwR
¥ dferr =l w&mm

(€) = *H wfde s woft A dfea
T WA

(D) & afder s Freran (ngdd)
4 dfta 1€l W

e wfum w1 ST 324-329
Prfaftan # A fre use 9 wdfta &7
(A) g :

(B) o@Dt B YE

(C) damd

(D) UF Toaud @ aidd

adu A, o @ war @R (e g

wfiera e (GST)) A& T B 2wl
& far Seaow wftwm we e 87
(A) 18%
(B) 25%
(C) 28%
(D) 32%
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Q44

Q45

Q46

Bezwada Wilson is a social activist who was
awarded the Ramon Magsaysay Award in
2016. What is his sphere of social activity?
(A) Eradication of child labour

(B) Eradication of female infanticide

(C) Eradication of manual scavenging
(D) Eradication of child marriage

With which foreign country is India
collaborating to develop the supersonic cruise
missile called Brah Mos?

(A) France

(B) China

(C) Japan

(D) Russia

Prime Minister Narendra Modi addresses the
nation through his radio broadcast called
‘Mann ki Baat’, When did this program get
aired for the first time?

(A) October2014

(B) October 2015

(C) October 2016

(D) October2017

LM-A
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Q44 qorarer Rews o wrnfors srdeat &

for 2016 % v {3 geeR @ weifE

fan T e 7= Frefafas 4 @ frw

&3 A 3ol wrfors wfaff e &

(A) W1 3W BT I

(B) =1 Y1 &1 BT I

(C) *jore whafoim (grr & fasan gan
W ) B S

(D) a1 faame &1 S=E=

Brah Mos /& {uvwitis @mo g
*! i a7 @ o wia s w3

e Rast o ¢ w27
(A) WiH
B)
(€) v
(D) w9

A AT A e W yere @
R W U @ Hale wva # o w
@ AT BT T B | A€ FEw gEeh
xR T4 wyaiRa gar?

(A) @R 2014

(B) Iap@E¥2015

(C) e 2016

(D) rargav 2017
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047 United States isthe country with the world’s Q47 WY&l I afer g @1 WA 49

largest GDP. Which country comes second GDP (woa 29 See) aren 2u & | ®1F
in the global GDP ranking? a1 3w #fas GDP ¥ # T WM W
(A) Japan i &7
(B) Germany o (A) w9
(C) China § (B) oIl
(D) India ; © @
(D) wRT
Q48 Abdelaziz Bouteflika, the President of ~ Q48 __ @ wgafd s it qaefiera
___,hasresigned in April 2019 bowing ¥ ot 2019 # o @ AT B AW
to public pressure. oo BU TRl ? R 8
(A) Sudan (A) =™
(B) Libya ®) ehfaar
(C) Chad (C) =re
(D) Algeria (D) sreanfan

Q49 Name the new CEO of the International Q49 frae fiwm o9 2019 3 7%

Cricket Council (ICC) after the Cricket frde uRwe (ICC) & 7Y Higsh & M

World Cup 2019, gy |

(A) Sunil Gavaskar (A) Fe Ay

(B) Sharad Pawar : (B) T TAN

(C) Manu Sawhney (C) ¥q W

(D) Rahul Johri ©) g e 1

Q50 Name the ex-CEO and MD of Ashok Q50 3mie efiets @ qd wdail aitv ol @

Leyland who took over as the CEO of Royal a1 = & Rreh e Tdies B A
Enfield. 3 w9 § SR wHer 87

(A) Vinod K. Dasari (A) farie &, Te®

(B) Dheersj Hinduja ®) @t figen

(C) Rajeev Dubey (C) wrofta ga |
(D) GV.Prasad @) A, wa=w |
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Q51

Q52

Q53

Q54

LM-A

Name the cricket team that is number 2 in
international test ranking, as per ICC, as of
March 2019,

(A) New Zealand

(B) SouthAfrica

(C) Australia

(D) England

Who was chosen as the captain of the Delhi
Capitals team for IPL 2019 season?

(A) Virendra Sehwag

(B) Ravichandran Ashwin

(C) Shreyaslyer

(D) Shikhar Dhawan

In which state has the National Cancer
Institute (NCI) been set up in early 20187
(A) Rajasthan

(B) Punjab

(C) Haryana

(D) Himachal Pradesh

Which is the leading areca nut producing
state in India?

(A) Kerala

(B) West Bengal

(C) Manipur
(D) Kamataka

165R0881

a1

Q51 HIH 2019 T IuFaT AFHN B ATHR,

Q52

Q53

Q54

I sirieia 2w W 3 a2 W
I aren fisde &m @ m T &7
(A) =oicts

(B) REyvr st

(C) aifegferan

(D) §ts

IPL 2019 ¥irvr= @ oy Rech #fea &
Fa @ w9 # e g w87

(A) d¥ wwam

(B) ee= aiftas

(C) »uw ar

(D) Rraw aw

2018 @ wwame # frw wow i wefg
$EY W (National Cancer Institute
(NCI) wnfie fasar man 87

(A) o

(B) wom

(C) sfamn

(D) fewraa waw

R d Y@ YURl SEE e

fr=fafaa 4 & @ w &
(A) @
(B) uf¥es e
(C) wfemR
(D) Te®
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Q55

Q56

Q57

LM-A

Name the 70-year-old lady from Odisha
who was awarded the Padmashri award for
her work of preserving ofhundreds of types
of paddy seeds throughout her life.

(A) S.Thimmakka

(B) Kamala Pujari

(C) Harika Dronavalli

(D) Mukaben Pankajkumar Dagli

The first areca nut to get the Geographic
Indications (GI) tag is the Sirsi Supari. In
which state is this supari grown?

(A) Kamataka

(B) Bihar

(C) AndhraPradesh

(D) Odisha

In which town of Uttar Pradesh would one
find the 11 storied Pagal Baba Temple?
(A) Vrindavan

(B) Varanasi

(C) Samath

(D) Chitrakoot

2

Q55

Q56

Q57

anfee & w70 adfa wften & aar m
¢ ot Wftas we d@Sl war @ g Aol
% wRew @l @ g Tl qEeR @
wfaa fan war?

(A) T, Fprant

(B) Tl guimd)

(C) &R B

(D) JFRT GHAGAR SR

Rt Jardh aeel Qv e & o hifore
"@aas (GI) v wra gan 21 a8 |urd
o wou # wmd ol &7

(A) THle®

(B) fEr

(C) et wdw

(D) snfem

OTR wey & b e F 11 wfirern e
amar R M

(A) F=m
(B) T

(C) HAm™

(D) REwe
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Q58

Q59

Q60

LM-A

The tomb of which of these ancient emperors
is located in the Sasaram town of Bihar
state?

(A) Bahadur Shah Jafar

(B) Alauddin Khilji

(C) Sher Shah Suri

(D) Qutbud-Din Aibak

The area called Bundelkhand comes under

which of these borders?

(A) Uttar Pradesh — Bihar Border

(B) Uttar Pradesh — Madhya Pradesh
Border

(C) Uttar Pradesh — Nepal Border

(D) Uttar Pradesh — Uttarakhand Border

Computer tools such as Word, Excel and
Power Point are products owned by which
of these companies?

(A) Iniel

(B) Apple

(C) Microsoft

(D) Google

| GEESEE 1
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Q58

Q59

faem wron & wwm e F Pesferfea
e wrda e @1 weaw fea 82
(A) FETER WTE TR

(B) wemadE faeh

(©) s

(D) Fga-Ia—& Yo

qeaas A aF PrefafRea e o
 aioetr aen 82 |
(A) IR W2w - RER ¥

(B) IR WAW — e Wiy dhwr

(C) IR wawr — ey Hmy

(D) IR YRY — TERrEvs Hmr

T B g A B Word, Excel iR
Power Point Fr=ifeifRa # & fvw wvf @
Weae &7

(A) Intel

(B) Apple

(C) Microsoft

(D) Google
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Q61

Q62

Q63

Timothy Donald Cook, popularly known as
Tim Cook, is the Chief Executive Officer
(CEO) of which of these companies?

(A) Google

(B) Twitter

(C) Amazon

(D) Apple

In the context of Microsoft Word, there isa

feature called ‘Gutter Margin’. What is this

feature used for?

(A) Improve the clarity of graphics and
images

(B) Give provision for better document

binding
(C) Improve the clarity of the printed text
(D) Facilitate the insertion of page numbers

Which of these districts of the state of Uttar
Pradesh does NOT share its border with
Nepal?

(A) Pilibhit

(B) Shravasti

(C) Sitapur

(D) Maharajganj

LM-A
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Q61

Q62

Q63

fesieht Sres @, e fn g & W
¥ o e &, Frafefaa 4 @ e
Hudfl & #Awa @ dfrEn
(Chief Executive Officer (CEQ)) &

(A) Google

(B) Twitter

(C) Amazon

(D) Apple

Microsoft Word @ ¥ # ‘mew wifel=

Tme wR @ Pl 9 9 Sas

fore Sz fsar wmn 87

(A) mfhaw i ol & wrean 4 R
& & fog

(B) Feow Sfapie e & waw= @
ferg

(C) fiids 2ave A W § gar F:
3 frg

(D) I HEARit &1 ST &) g wgH
& & fog

IR WY U HI B w1 foren e @
wrey aroef A s A wvar &2
(A) dreinfia

(B) maEh

(C) ¥R

(D) HERTITA
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Q64 Which of these districts of Uttar Pradesh lies

on the UP-Bihar border?
(A) Basti

(B) Bulandshahr

(C) Banda

(D) Ballia

Name the national leader who undertook a
marathon walk called ‘padayatra’ from
Kanyakumari to Rajghat in Delhi in 1983
The intent of the yatra was to renew rapport
with the Indian masses,

(A) Chandrashekhar

(B) LK Advani

(C) Ram Vilas Paswan

(D) V.P.Singh

Name the Indian Prime Minister who
announced in the parliament that he would
implement the Mandal Commission’s
recommendations. This declaration triggered
nation-wide protests in India.

(A) RajivGandhi

(B) V.P.Singh

(C) Chowdhary Charan Singh

(D) Chandrashekhar

LM-A

16506681

Q64 TR W27 & &Y a1 Forer 9w wew afw

fae & i ov frer 87
(A) &=

(B) FegwEy

(C) aiar

(D) afern

a8 B Ao # Rreh af 1083
H Faga 4 dox Reh & wome
T qEgEr me dveE o fee @
B A7 39 A @1 St Ry S
& W W ) e I an)
(A) T=Iar

(B) wregwn srsarh

(C) wfRam srar

(D) drdifs

W W FEEE B A 8 e
e A gw dwon B off @ aw dew
s it frfet @ #9° 3=
o § e dward A 1w @
Ty |

(A) wfrg i

®) §f g

(C) =t =vor g

(D) T
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Q67 Whichcityin Uttar Pradeshiiscalled ‘suhaag Q67 JoR W29l & e wiev &1 qem LUk

Q68

069

nagari' because it is famous for making glass
bangles?

(A) Firozabad

(B) Gorakhpur

(C) Varanasi

(D) Bareilly

Who among these following leaders is also
the head priest of the Gorakhnath Temple
and Math?

(A) Uma Bharati

(B) YogiAdityanath

(C) SriSri Ravi Shankar

(D) Mahant Paramhans Das

Sarnath, the sacred place where Lord
Buddha delivered his first sermon, is located
very close to which of these cities?

(A) Mathura

(B) Ayodhya

(C) Jhansi

(D) Varanasi

LM-A
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we1 wen 8, uE wew oiw H R
T @ forg wfeg &7

(A) fdumamE

(B) TR

(C) ARl

(D) %Al

Freferfier Somsit # & @ 9 T T
iRz Al w8 @ J@ qurd o &

(A) FHr e

B) arf anfeer

(C) M = R wizw

(D) wEd YeiEd

HRA, a8 WA W 1 T ga A
A weer Suaw Ry e, aw Fe=fafa
fa BT @ g s e &7

(A) Tgu

(B) aravean

(C) #l

() arRi
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Q70  Which part of Uttar Pradesh is famous for

Q71

Q72

LM-A

the delicately embroidered sarees called
“Chikankari sarees™

(A) Moradabad

(B) Lucknow

(C) Meernnt

(D) Prayagraj (Allahabad)

Name the poet and saint who wrote
Ramcharitmanas, another version of the
Ramayan.

(A) Ravidas

(B) Surdas

(C) Kalidas

(D) Tulsidas

Name the South Indian King who
vanquished the forces of the Dutch East India
Company in 1741 in the battle of Colachel.
(A) VeeraPandya Kattabomman

(B) RajaRajaChola

(C) Marthanda Varma

(D) Haider Al

Q70 VIR AW &1 A | wEY "R

Q71

Q72

wifdar e v sord ardh wifdadl @
fo sieg &7

(A) HRTETET

(B) #7@TS

(C) e

(D) warRr (gemEmEmE)

a® #1 9 o afv wa & el g
&1 U N weheor et forar
ar?

(A) ¥R

(B) e

(C) #fere™

(D) gerrara

v wwa @ B aon A ot 1741
Hlar A a9 § 39 v gRar Bud
o W far e

(A) drmiEar sEEEy

(B) o1 o =

(C) wrive awf

(D) e aeh
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Q73

Q74

Q75

Name the famous warrior begum from the
principality of Awadh, who fought the British
as part of the 1857 mutiny?

(A) Begum Hazrat Mahal

(B) Begum Raziya Sultan

(C) Begum Jahanara

(D) Begum Meherunnissa

The first emperor of the Mughal dynasty,
Babur, has written an autobiography in his
native tongue of Chagatai Turkic, What is the
name of this book?

(A) Mughalnama

(B) Babumama

(C) Baburmubarak

(D) Baburbihaya

When Atal Bihari Vajpayee became the Prime
Minister for his first tenure in 1996, what was
the closest approximate duration of his Prime
Ministership?

(A) Twodays

(B) Twoweeks

(C) Twomonths

(D) Twoyears

LM-A
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Q73

Q74

Q75

s 1 Rawa | 9w ufe o W
w1 AW @1 & R 1857 @ REw A
Gt @ W B areh o W foran
or?

(A) 9T BUNG FE

(B) % ¥ gear

(C) & TETIRT

(D) e s

Tre 40 & U WHIE AAY A AT
29 s wreng qfdies 3 arue STl
fod & 70 WS &1 AW @ 87

(A) FITEETT
(B) A4

(C) TAIARS
(D) wmaxfaErn

1996 ¥ via aree fErd Aol gee ar
T @9 9, dY S waETHEA @ B9 |
FW FA B AT a9
(A) @ fa=

®) 1 FR

(€) =1 wéM

(D) a1 wrd
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Q76

Q77

Q78

Q79

SECTION-3 | GENERAL SCIENCE /ARITHMETIC | 50 QUESTIONS

Which among the following diseases is very
rare in women as compared 1o its occurrence
inmen?

(A) Myopia

(B) Kidney stone

(C) Braintumor

(D) Colourblindness

Haemoglobin is the protein inside red blood
cells that carries:

(A) oxygen

(B) carbon dioxide

(C) nitrogen

(D) ozone

Which of the following is equal to
8.13 x 109

(A) 831000

(B) 8310000

(C) 813000

(D) 8130000

When 0.353535... is converted into a
fraction, then the result is:
35
99
ﬂ
100
E
19
1

99

(A)

(B)

©

>)]
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Q76

Q77

Q78

Q79

Freifofeaa 1 @ @1/ w 9 quul &
gern ¥ AfReit ¥ 9ga a9 e &7
(A) Fraegfie 2w (mafian)

(B) fFsit # qerdt

(C) 7 TP
(D) auifam (FeR SESIH)

Rrafas @ o SiffERt & s
W UF WEE & v aw Frefafaa 4
fae a8 wwan &7

(A) sifeiror

(B) #r+ SgafaaEs

(C) g

(D) S

fFr=feRea 4 & oF w1 A
8.13 x 10° & awaw &7

(A) 831000

(B) 8310000

(C) 813000

(D) 8130000

o4 0.353535... &1 =1 A e o &
i uRoms @ gm?
35
99
35
100
15
19
1

99

(A)

(B)

(©)

(D)
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Q80

Q81

Q82

Q83

LM-A

What is the HCF of 2'x3 x5« 7,
2x ¥ xS x T and 22x3x 5 x T ?

(A) 210

(B) 420

(C) 1005

(D) 1050

Solve the following.
36 |

8l 9

(A)

(B)

(€)

Ok D= Olwv O|d

D)

A number is as much greater than 55as itis
lesser than 79. The number is:

(A) 59

(B) 63

(C) 65

(D) 67

The sum of three consecutive numbers is 96.
The greatest among these three numbers is:
(A) 28
(B) 31
(€ 33
(D) 43

| FRIGENGQ L
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Q80

Q81

Q82

Q83

28387, 2x3x 5%, 72 3w
Py Iy oy TP BT AETH FATANS
(HCF) I/ &%7

(A) 210

(B) 420

(C) 1005

(D) 1050

Fr=fafaa &1 ga &)
(A)
(B)

(©)

Gk Ol= Yl Ol

D)

U w559 9o § 79 & e
a8 79 9 o1 | v W w |

(A) 59

(B) 63

(C) 65

(D) 67

dTaR @ wemal @1 AT 96 81 8
7 wei § wan 4@ d@en e @
{4

(A) 28

(B) 31

(C) 33

(D) 43

SERIES-A-D




Q84 Which of the options will come in placeof ~ Q84 Frwifeifan whwvor 4 wwfes () &

Q85

Q86

Q87

the question mark (?) in the following
equation?
128+Iﬁx3-?x2=]
7-6x6-3

(A) 16

(B) 49

(C) 60

(D) 128

1000 boys and 600 girls are examined in a

test. 43% of the boys and 35% of the girls 2
passed. The percentage of the number of =

candidates who failed is:
(A) 40%

(B) 50%

(C) 58%

(D) 60%

A finishes a work in 9 days and B finishes
the same work in 18 days. In how many
days will they together finish the same work?
(A) 3days
(B) 6days
(C) 8days
(D) 9days

How many minutes will Preethi take to cover
adistance of 500 m, if she runs at a speed
of 30 km/hr?

(A) Imin

(B) 2Zmin

(C) Smin

(D) 6min

LM-A

Q85

Q86

Q87

WM W Fefafaa F | @ @ e
m?

llE-l-lﬁ:-:S-'hE:l

7-6x6-3

(A) 16

(B) 49

(C) 60

(D) 128

0 oder 7% 1000 s 3w 600 Ffsat
& afeT ot ot 8| Ssdl A | 43% 3l
wefral % | 35% ura B &) Be £
ad BT @ §e wfowm

L4

(A) 40%

(B) 50%

(C) 58%

(D) 60%

A 5t B @Y 9 ot 3 qur e & o
B ¥ @™ Y 18 fa ¥ qu v &) 2
2t W e &Y ol o @) fsas fam
# @ H6?
(A) 3fem
®) 6fe=
(C) 8fa=
(D) 9fE=

aft fifd 30 km/he 1 7 @ s 8 o
I 500 m @ gH B TU BV F fver
W Jm?

(A) Imin

(B) 2min

(C) Smin

(D) 6min
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Q88

Q89

Q91

LM-A

Which of the following cars with speed given
below is the fastest?

(A) 90km/hr

(B) 25m/sec

(C) 1500 m/min

(D) 100 km/hr

A solid right circular cylinder has a radius of
21 cm and height of 16 cm. What is its
curved surface area?

(A) 2000 cm?

(B) 2002 cm’

(C) 2010 em?

(D) 2112cm?

Two pipes A and B can fill a tank in 16 hours
and 48 hours respectively. [f both the pipes
are opened simultaneously, how much time
will be taken to fill the tank?

(A) 10hours

(B) 12hours

(C) 15hours

(D) 16hours

At present, the ratio between the ages of
Vimal and Vinay is 4 : 5. After 6 years,
Vimal's age will be 26 years. What is Vinay's
age at present?

(A) 20years

(B) 21 years

(C) 25 years

(D) 30 years

LESEYEEL

32

Q88

Q89

Q90

8 &) wd afey el Fr=fefe et d
/A P W TR AR I 87

{A) 90 km/hr

B) 25 m/sec

(C) 1500 m/min

(D) 100 km'hr

UF 3 we g das A B 21 om
3N 9% 16cm €1 THO a@ OB
(curved surface) S1FHH HI 9T T |

(A) 2000 cm?

@) 2002 cm?

(C) 2010 em?

" (D) 2112em?

A 3R B 31 orgy fasit & 9 16 62 2w
48 52, wA W Wy g &) afy I
Ty UE W Wi B o @ 6 3
w¥+ A fvoem v eem?

(A) 10%2

®) 12%2

(C) 152

(D) 16 2

Q91 = ¥ fvre o R & amg @

U 4:5% 1 69 2 R & Ay
26 9 B Wt | wehe A R & amg
1 &7

(A) 20

B) 21

(C) 254

D) 307§
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Q92 An accurate clock shows 9 o’clock in the j Q92w WéE =& {aw 9 o & Wiy Rard

morming. Through how many degrees would & 81 " 98 TWEY @ 3 79 Rad &
the hour hand have rotated when the clock we i g8 fve fh ov g

shows 3 o’clock in the afternoon? (A) 150°

(A) 150° (B) 155°

(B) 155° (C) 175°

(C) 175° (D) 180°

(D) 180°

Q93 Ifastraight line intersectsthesidesABand Q93 af¥ fslt finrst A ABC oY Holl AB afiw
ACofa A ABC at D and E respectively AC®), o1 ¥ Y& Dalv Ew 79w

AE Fredt & 3R 98 BC @ wariiow & o
and is parallel to BC, then — =7

AC AE
AD ac ”?
(A) EC AD
B (A) EC
(B) DB AD
i (B) DB
© 25 AD
=, (©) AB
(D) BC DE
(D) BC
Q94 A system of two linear equations in two Q94 =1 Wlrg el A v womeht § 2 o
variables is inconsistent if their graphs: T 8 It we o
(A) cutthe x axis (A) x 38 T2
(B) cuttheyaxis (B) y 381 e
(C) coincide (C) 7Y B (coincide)
(D) donot intersect at any point (D) & # fig w afrde 7
Q95 If 0 =45° then cos® 6 + sec? § =7 Q95 ufZ 0 =45° 8, @ cos? @ +sec? 9 =2
(A) 0 A) 0
(B) 1 B) 1
€ 2 (C) 2
(D) 2.5 D) 2.5
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Q96

Q98

If the system 6x—2y =3, kx—y=2hasa
unique solution, then:

(A) k#3

B) k=3

€) k#4

D) k=4

The square of any number is divided by 4,
then the remainder is:

(A) 1

B) 0

(C) eitherlor0

(D) neither | nor0

While resolving 1500 into two factors, the
possible number of ways is:

(A) 12

(B) 18

(C) 36

(D) 24

The ratio of Amit’s age and Anu’s age, nine
years ago was 5 : 7. Then 5 years from now,
which of the following CANNOT be the
ratio of their ages?

(A) 13:19

(B) 11:13

(C) 15:16

(D) 21:25

Q100 Each of the interior angles of a cyclic

polygon with ‘n’ sides measures 144°. Then,
the measure of the angle subtended by each
of its side at the geometric centre of the
polygons:

(A) 30°

(B) 144°

(C) 54°

(D) 36°

34
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Q96

Q98

Q99

a2y 6x-2y =3, kx—y=2F (B
afgcha (gfe) & & o

(A) k#3

B) k=3

(C) k#4

D) k=4

el W e @ ol @ 49
v g e 9 qaa 87

(A) |

®) 0

(C) @wiararo

D) F1aRa0

1500 @1 2 o @t A e Wi TSt
¥ fmfra fren o e &7

(A) 12

B) 18

(©) 36

D) 24

# of uga, afa iR g A Iy =
arquTer S: 7| W %@ | 5 Ay 4w,
Prafafaa 4 | #9 w 56 3G =
vy ET B W 87

(A) 13:19

(B) 11:13

(C) 15:16

D) 21:25

Q100 *n* Wil aret U bt g (WD

i) @ wEE JiaRe T B AN
144° 8| o, T899 @ @G FE W
TUd) WS O GRT 49IY T BV B
wq fawrn B

(A) 30°

B) 144°

(C) 54°

D) 36°
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Q101 If sin@-3sin@+2

- = |, then & can be:
cos* @

(A) 45°
B) 60°
(C) 30°
(D) 0°

Q102 ClubA had won 30% of the first 60 matches
ithad played in a particular season. Then
the minimum possible number of additional
matches the Club A should play to achieve
a success rate of 44% in that season is:
(A) 15
(B) 20
(C) 30
D) 25

Q103 What was the name of the mission, an anti-
satellite missile test, carried out successfully
by the DRDO on 27 March 2019 from Dr
APJ Abdul Kalam Island launch complex?
(A) Mission Parakram
(B) Mission Shakti
(C) Mission Vikram
(D) Mission Sahas

Q104 What is the application of the GSAT-31
satellite launched by India on 6 February
20197
(A) Earthobservation
(B) Navigation
(C) Climate and Environment
(D) Communication

LM-A
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Q101 af2 $in 6_3:5'n9+2=]§_ﬂ‘r9&‘ﬂ$

cos &
AT BITT?
(A) 45°
(B) 60°
(C) 30°
(D) 0°

Q102 T4 A+ U& i 3§ @9 U ygd 60

A4t # W 30% %9 Y &) o 7w AW
TH WA F 44% A w%aar o7 i
o @ foy fe sftRe <gram #a
e afge?

(A) 15

(B) 20

(C) 30

(D) 25

Q103 DRDO g1 27 #rd 2019 &Y &f. vd

J&T sam @y gawor gfew @,
wHeRTyd® ¢E-deage frame wleo
R war e, g9 s @1 0w wr?
(A) P qemm
®) = ufds
(C) e Rew
(D) fiwr wmew

Q104 6 wvad 2019 Y WRE EWT wf=9 fbv 7w

GSAT-31 9uug o1 fFrefafeea 4 & &=
T W &7

(A) et &7 e

(B) v gesf

(C) wierary afte Aoy

(D) war
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Q105 Name the nuclear-capable surface-to-surface

intercontinental ballistic missile developed by
the Defence Research and Development
Organisation (DRDO).

(A) Prithvilll

(B) Trishul

(C) Agnis

(D) Barak-8

Q106 Which of the following is a part of the

process involved in water cycle?
(A) Evaporation

(B) Sublimation

(C) Freezing

(D) Melting

Q107 Deficiency of which mineral causes anaemia?

(A) Magnesium
(B) Iron
(C) Zinc
(D) Lead

Q108 Which of the following is a commonly used

chemical method for purifying water?
(A) Hibemation

(B) Excavation

(C) Chlorination

(D) Denitrification

Q109 Which of the following is the source of

freshwater?
(A) Ocean
(B) Sea

(C) Brine
(D) River

LM-A

153550567

Jé

Q105 & s 3R s §ed (DRDO)

BN HaE W Has W s -
s-wEigdn dfefes Mama &1 W
a1 87

(A) gt

®) P

() affa s

(D) aH-8

Q106 Prefafaa @ o @ whiva oa = A

e uftbar &1 @ B #7
(A) arsfiEvo
(B) QU
(C) frfrawm
D) e

Q107 Fr=fafe % A 5w @fa (mineral) ¥

&4 | i g 87
(A) Heifiaw

(B) e

(C) wrwm

(D) ¥

Q108 TF @ g T @ Y IFRIR W

e o aren TS
fyiferftea 3 & @Y @ 27

(A) Hrafifesaa (FEaeie)

(B) SeaT (Taader)

(C) aaIEor

(D) FTEESI

Q109 Prefafaa ¥ ¥ @\ M g & wAw

I WA &7
(A) WETETTR
(B) WP
(C) @r
D) &
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Q110 Which of the following is a good source of
vitamin A?
(A) Fishoil
(B) Sugar
(C) Banana
(D) Coconut oil

Q111 Sound CANNOT travel through:
(A) Gas
(B) Vacuum
(C) Liquid
(D) Metal

LSESGEDL

Q112 Which form of energy causes a matchstick
to ignite into a bright flame when the
matchstick is struck against the match box
surface?

(A) Potential energy
(B) Kinetic energy
(C) Chemical energy
(D) Wind energy

Q113 CGS system of measurement units stands for-
(A) Coulomb, Gauss, Steradian
(B) Celsius, Grade, Second
(C) Centiliter, Gallon, Siemens
(D) Centimetre, Gram, Second

Q114 In Electronic Communication Systems, noise
refers to:

(A) unwanted signals that tend to disturb
the transmission and processing of
message signals

(B) loud music harming the eardrums

(C) sensation of hearing that is not audible

(D) unwanted sensations that disturb

messages

LM-A 37

Q110 Fr=fefre % @ @ w1 Refm As s
I Wi 87

(A) o =1 O

@) 4

(C) @&

(D) Raa & aa

2

Q112

Q113

Q114

& Prefafea § & e w4 am
T8l WY I &7

(A) ra

(B) fafa

(©) =

(D) =g

i 9t fe=ft & waw | o afm H
el ewwd 8, o swf @ ¥ w Wy
T wadiel o A uoafea €9 & s
g &7

(A) ferfrs st

B) nftra i

(C) wwmafys FHuf

(D) ary W

A9 §H1EAT D CGS e 91 =it
H | aur g #7

(A) T, 7ita, ®fegw

(B) wfewww, i, @

(C) Hfefore, fam, drfg

(D) Wérier, um, dwe

geta e wEr gonfert ) R Prafi

4 9 9 wehfa wvar 27

(A) smifoa Ryrew o w2w e @
WO SR WHERr § amn sre

(B) T B FHEE YEAW AT
wife

(C) W &y g it gt A e @

(D) Jaifoa wWag=y o w2t § qmr
s #
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Q118 Which of the following is a form of calcium

Q115 Which of the following is TRUE about the

process of evaporation?

(A) Itdoesnotdepend upon humidity level.

(B) ltincreaseswith increase in surface
area.

(C) Itdecreases with increase in wind
speed.

(D) Itdecreases with increase in

temperature.

Q116 Plasterof Paris is a product of:

(A) magnesium
(B) aluminium
(C) calcium
(D) sodium

Q117 Which of the following statements is TRUE

about natural rubber?

(A) Itisanatural polymer and possesses
elastic properties.

(B) Itisan artificial polymer and possesses
elastic properties.

(C) Itis nota polymer but possesses elastic
properties.

(D) Itisanatural polymer but does not
possess elastic properties.

LOBGGEL |

carbonate?

(A) Washing soda
(B) Bakingsoda
(C) Limestone
(D) Table Salt

Jj8

Q115 amsirawor H wftea @ IR 4 Frafafea

# @ @ w87

(A) T8 T B e w Pfe 7 @l B

(B) uE waE &5 A gfE 81 W wEd
L

(C) uE war # ufy A gfg B W ue
o 2

(D) T ToEE A gfg §F W ue S
2

Q116 wrex 3w Afw Frafafes 4 @ e

T Sorg 87
(A) Hrifram
®) vt
(C) Hfewras
(D) wfeun

Q117 sl v & an ¥ Fr=fufaa # @

P W PYA we 87

(A) TE UF WGP qgs § v g
draer o B &)

(B) ¥ & T ETS ¢ 3w gw
wraar T B #

(C) U8 @ qgod 8l 8, A gl
draer o1 §1

(D) 4% U@ Wigla agas & afe v
draer 7o E E &)

0118 Frefafla § @ 2= @ dfeeam e

T UH WY 87
(A) dif¥iT ==
(B) afdm e
(C) FI-Tw™
(D) 24w wiee (T7m)
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Q119 Dietary intake of is essential for
the normal functioning of thyroid gland.
(A) sodium
(B) calcium
(C) iodine
(D) potassium

Q120 Which microorganism is Penicillin obtained
from?
(A) Amocba
(B) Virus
(C) Protozoa
(D) Fungi

Q121 Which of the following diseases is caused by
the deficiency of vitamin A?
(A) Rickets
(B) Scurvy
(C) Nightblindness
(D) Pellagra

Q122 Which of the following diseases is caused by
the deficiency of vitamin B1 (thiamin)?
(A) Rickets
(B) Beriberi
(C) Nightblindness
(D) Pellagra

Q123 Which among the following is a vitamin
deficiency disease in which dark red patches
occur on face, neck, hands, calves and feet?
(A) Pellagra
(B) Thyroid
(C) Anemia
(D) Keshan

LM-A
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Q119 e (urgviae) ufer & wmra s
& fow smer # Prafafam 4 @ faa
A B A &7
(A) aifeam
B) $fcarzm
(C) smard=
(D) grefirm

Q120 fafem frm weecha 9 ura g &7
(A) arftar
(B) faumy
(C) Wrersen
(D) @a®

Q121 Refm A& &0 ¥ Fifefaa 3 @
S A1 I g &2
(A) Racs
(B) wwdl
(C) et
(D) Yaman

Q122 feerfim B1I (Rrafy=) o &0 @
Frafafta 4 ) o a1 9 g 22
(A) Raew
(B) ¥Had
(C) wikht
(D) Y

Q123 Fr=ifeifea 4 & a1 va Refm & o0
@ SRV B arer o 8 fr GEy
e, B 3R W W e " o B
TER U8 IR 87
(A) "&mn
(B) uraiigs
(C) uhfimm
(D) ®eA
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Q124

2125

LM-A

Blood enters the kidney through the:
(A) renalartery

(B) external iliac artery

(C) axillary artery

(D) ulnarartery

Which among the following organs secretes
bile juice?

(A) Heart

(B) Brain

(C) Kidney

(D) Liver

40

Q124 e afa 1% # v Freifafaa 4 9

fra wmam | WY e 87
(A) TF5 a5l

®) aEd sforae g

(C) wefa (vfawad) e
(D) i WRifts®! (3FR) g5

Q125 Pr=fafiaa st 34 @ @9 & 3 i ™

[BFPTF

&1 T I &7

(A) B24
(B) #f¥rs=s

(€) Tei
(D) g
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Q126

Q127

Q128

Q129

LM-A

SECTION-4| GENERAL HINDI |25 QUESTIONS

TN Ha Righ ara gar &1 -
T ¥ i v v @ frw e
W afeefa ampn?

(A) TorETES

(B) uRmmmaTes

(C) iy

(D) wEdTfs

Frefafaa 4 % $9 W v was @
yufaard) &7

(A) @

(B) were

(C) wfem

(D) &g

Frefer # & @ w1 Reim g7 af
T8 87

(A) WR—3nTH

(B) #a-wm«

©) F-wri

D) AG-ErY

TE-Tel -4 & fag wilt ank-gm
A |

(A) aF-TEd)

(B) TEA—TH

(C) et

(D) -

,
3
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Q130

Q131

Q132

Q133

ot gt A gfa | qww -
e @ o s e T
(A) sfeafom

(B) sfeafue

(C) sRandm

(D) gaEy

TH SR U W RN o ) 21—
it gz § @ ar aent 82

(A) &wm

(B) e

(C) wweEH

(D) 3mEF

@ T - e @ e uw W
CEU LS 0

(A) wfem aedam

(B) e wetara

(C) wfew v

(D) ¥ o

T AT W ety ot R -

Y Wa W & fw g @ Wy

Frefafa & & @5 wr 82

(A) S8 o1 & & Pl &)

(B) 5o el 3k 7 Frahy eifier maim |

(C) Ja w1 5 o9 Frehe oifta fsan
g |

(D) =%+ wEl & § o = frchy
e @ e €|
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Q134

Q135

Ql36

Q137

LM-A

frem fom & wa ot gfe @ Fefarfee
i | 9 ar g ah T8 &2
(A) T8 Q@ 0, 4gT | 9, 3T 2

(B) T g a8 m @ &)
(€) =&, =#1, vwr i A & v

(D) e, =& e A 8, s A gdd
T &1

it vreAr gEreR @ Wi 3 @
Bra?

(A) ufEdt We &

(B) uftsm &

(C) ¥Ea Fe—qu T

(D) TR HEAT

e B A WRl §u-. A &l
wlt aef T A7

(A) @ # & v Wil F
(B) = wrw ¥ ¥v, 7 Wigl # @
(C) =g W

(D) =1 & ¥ T

ftd vt & e & 5w o &
fromen 1| W wE T 87

(A) anfeara

B) Wik

(C) Ot

(D) Imfre &1

3

TR
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Q138

Q139

Q140

PSGl

ffaf 4 @ @9 @ e e
@ 81 87

(A) TwEReEE

@) frameh

(C) MMgpwriame

(D) WP

& &1 yum FHER 92 P9 W oar?
(A) R TEs g

(B) Baa ARIvS

(C) eRww ulEm

(D) W

fEd & 7o sefty fewd ol o &7
(A) =Tel Sy

(B) Ir@aTTeR o

(C) EH 3

(D) AR st

ffefan omed o1 seggs Hifg
alw i Ry we weAl (wes de 141 -
143) & TR €|

Hogem @wer 799 A WPl i
affoa 1 sgufea v &1 9w,
weiwHg o ufd= srewer @ e )
Yoy wasr wede @i @ forg
fRca & | gud W= @ i aad B
e @f wwar geg Aa da 8
Yiogea @aeR | Hgar g8 9 #)
THH vt iR wiE 9 Rafdl a0
Seg 81 Bl | §EE U gae anmmen
&1 gor g 8, Rrad ol w0
I T € | Hidam afa s @
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Q141

LM-A

A 3 ae A @ ) e e
8 e gon uyeaqef gt @
o &1d @ fawgd & Atea af
B3l afk Wi 3 fag Moy
AER W WY W aravas &) fwmed
¥ aft i &1 s & o 78 oA e
9 aifver Rver v 18 a5 W | oA
e W @wiEl § e @
fe wa & &9 arh & R vy &
s wftere # neltren am ot 81 g9
e T 7 Sufefy A aftrerd af
e s wvienfal & dra, R
v Rofiat @ @ ou Tew alk
it & dra mg aliv wmg e wenfa
g ¥ alv weds of o wriguem i
gie oft &1 39 o1 B ey @ BR-W
-vier afim 72 @ werpifa afola &
o &) fia S gei afiv & 1or a8
&1 5w o & aifdfa s o wer 8
ReR® S g0 1o 31 e alw
fremfta &2 & aga 3 qfe
T T B

et % ¥ &9 o == e 2@

waw # T 87

(A) Nags TaeR | YEg IRmER
w1 Ffor gvan 84

®) ¥ia v @ o &)

(©) wRaiRs dwr diw =1 Aela
we ¥ el afer Fem §)

(D) ey =R viel-as! # i
w0 W IaEs
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1 THOS30

Q142 wenw # Ywifd stw A i aren

Q143

Ql44

Q145

grfl:

(A) e wy g Rar wmn )

®) & o 3 e w e mm
e & o 24

(C) et e @1 wiye gven & awt o
&1 frgs T g

(D) vt s e # ot e &
wiea g &)

e i W W =R g @
R &2
(A) i
(B) WTg
(€) gl

(D) ImeiwT

oM P WEH TH, Dty wNT a
U O 6 A ARt @ der o
81 81, T4 99 F97 e oen 47

(A) Trfag sy

(B) e

(C) TN
(D) 9=

7 Reraa #t Al wENeE ve &
7w g fE @ foan o=
fre #ife & sferfa smgam?

(A) wrEPrg

(B) ey

(C) tufwr

(D) =S
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Q146 freiferfiae # & @ W sl @ 87
(A) &
(B) 9
(C) =

(D) ©

Q147 frafafa % | $5 W ®WX Foaad
27
(A) ¥
(B)
(C) &
D) ¢

Q148 Ut + 3 f W WYy @1 IgTEr §7
(A) T
(B) ¥ty

(€) &
(D) 3w

1 (WD 30

Q149 ‘Wl faFa wWE H1 IAER 87
(A) i
(B) TGN
(©) feT
(D) &

Q150 ‘¥iven wftwdl witw gm afes -
ara # Ywifier sema-wan Frafafta
% ¥ 5 g o1 S 87
(A) THETdED
(B) farafadmor
(C) Haan®
(D) fremafass
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Read the following Instructions carefully :

frafafes Pidet &t a9 & 9@ -

1. Out of the four alternatives for each question, only

one circle for the correct answer is to be darkened
completely with Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not lisble
to be changed

. The candidates should ensure that the Answer Sheet
is not folded. Do not make any struy marks on the
Answer Sheet. Do not write your Roll No. anywhere
else except in the specified space in the Answer Sheet.
. Handle the Test Booklet and Answer Sheet with care,
a3 under no circumstances (except for discrepancy in
Test Booklet), another set will be provided.

. The candidates will write the correct Test Booklet
Series us given in the Test Booklet in the Attendance
Sheet.

Each candidate must show on demand his / her Admit
Card to the Invigilator

. Mo candidate, without special permission ol the Center
Superintendent or Invigilator, should leave his / her
seal,

. The candidates should not leave the Examination Hall
without handing over their Answer Sheel to the
Invigilator on duty. Cases where a candidate has not
signed on the Attendance Sheet will be deemed not to
have handed over the Answer Sheet and dealt with as
an unfair means case,

Use of Pencil/Electronic/Manual Calculator is
prohibited.

, The candidates are governed by all Rules and
Regulations of the Commission with regard to their
conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and
Regulations of the Commission.

10. After Examination is over, candidate has to return his

Answer Sheet to invigilator. Invigilator will hand over
the Candidate's copy to candidate, then only
candidate is allowed to leave the examination hall.
Candidate is only allowed to take Candidate's copy of
answer sheet.

11. Candidates are not nllowed lo take Test Booklet with

them. They have to submit the Test Booklet to the
Invigilator after the exam.

= BEGGEESL W

wed e & o R ) a9 Aewi 4 9
HE I @ fAv o uA aIN. oY TEE 1Y
Fad ¢F M B § [ AE FIA A Uige
U9 | 9| (3 I Iox e By 9F &
aTe S agel A6 o wear #)

qdemeff g fan @ 9 s yEE o A
9 WY Ta 9W U @ = P |5 o |
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